
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Отсюда примерно нарисовался фильтр: 
 

2 порядок (Rs = 0.87; Rp = 65.56) 
 

 
 
 
 

3 порядок (Rs = 0.87; Rp = 65.56) 

 
 
 
 
 
 
 
 
 
 

 3.5 кГц 4.0  кГц 4.5 кГц 

C2 4.02 3.52 3.12 

L2 0.51 0.45 0.4 

C1 8.04 7.03 6.25 

L1 0.26 0.23 0.2 

 3.5 кГц 4.0  кГц 4.5 кГц 

C1 3.79 3.32 2.95 

C2 11.37 9.95 8.84 

L1 0.27 0.24 0.21 



 
 
 
Намоточные данные 

 
Кол-во 
витков 

Сечение 
мм^2 

Сопротив. L d1 D2 

0.51 134 0.5 0.481 11 22 44 

 
0.45 128 0.5 0.446 11 21 42 

0.4 122 0.5 0.414 10 21 42 

0.26 80 1.7 0.118 16 32 64 

0.23 76 1.7 0.109 15 31 62 

0.2 72 1.7 0.100 15 30 60 

L 

D2 

d1 


